
Two-Digit Addition (T)

18 + 36 = 41 + 69 = 53 + 67 =

24 + 69 = 29 + 23 = 82 + 23 =

85 + 98 = 16 + 33 = 84 + 77 =

60 + 73 = 27 + 43 = 96 + 36 =

25 + 77 = 45 + 83 = 63 + 22 =

39 + 72 = 31 + 78 = 82 + 97 =

75 + 82 = 75 + 31 = 20 + 27 =

59 + 97 = 90 + 30 = 52 + 74 =

56 + 71 = 38 + 95 = 18 + 35 =

34 + 72 = 50 + 24 = 59 + 94 =

27 + 37 = 27 + 93 = 95 + 58 =
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Two-Digit Addition (T) Answers

18 + 36 = 54 41 + 69 = 110 53 + 67 = 120

24 + 69 = 93 29 + 23 = 52 82 + 23 = 105

85 + 98 = 183 16 + 33 = 49 84 + 77 = 161

60 + 73 = 133 27 + 43 = 70 96 + 36 = 132

25 + 77 = 102 45 + 83 = 128 63 + 22 = 85

39 + 72 = 111 31 + 78 = 109 82 + 97 = 179

75 + 82 = 157 75 + 31 = 106 20 + 27 = 47

59 + 97 = 156 90 + 30 = 120 52 + 74 = 126

56 + 71 = 127 38 + 95 = 133 18 + 35 = 53

34 + 72 = 106 50 + 24 = 74 59 + 94 = 153

27 + 37 = 64 27 + 93 = 120 95 + 58 = 153
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